Q1.

Q2.

Q3.

Q4.

Q5.

Multiplication

Match the following :
24+2+24+2+2+2+2 7 X2
7+7 6 x4
6+6+6+6 2x7
4+4+4+4+4+4 4x6
Fill in the blanks:

a. 2 x 1000 =

b. 27 x =270

c. 5% = 5000

d. 4 x 500 =

Which of the following is incorrect? Tick the correct option.
a. 23 x 30 x 57 =57 x 23 x 30

b. 7 x 300 =7 x30x 10

c. 75x50=55x%x70

State True or False:
a. 70 times 400 is 28000.
b. 2 times 12 will give the same result as 12 times 2.

c. Any number multiplied by 0 results in the number itself.
d. The product of any number and 10 will end with the digit 0 or 5.

A bag can contain 15 books. Based on this information fill in the table given below:

Number of bags ~ Number of books in the bags Total number of books

15
15+ 15

15

S 0N =
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Q6. Multiply:
a. 1762 x 3
Th H T | O

X
b. 2896 x 34
TTh| Th H | T | O
X

Q7. Multiply 4208 by 234.

TTh) Th | H T O
4 2 0 |8
X 2 3 |4

Q8. Ashwin saves X 2300 every month. How much money will he save in a year?

Answer: ¥
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Q9. In a storm the fruits fell from their trees. Find the products and find which

fruit belongs to which tree?
23 x6 39 x2 62 x 4 g

e i

138 78
Q10. Rashmi wanted to distribute 4 sweets to each child of her class. If the total
strength of the class is 52 students, how many sweets should she buy?

[ 4

Answer:

Q11.Tick the picture that correctly expresses the given multiplication fact.

5x3=15

a.
] ] | J ]
e r r r s
) ) )} ) )

b

Q12.To climb each floor of his building, Shivam has to climb 18 stairs. How many
stairs will he climb to reach his house on the fifth floor?

Answer: stairs
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Q13.Each coach of a train has 128 seats. If the train has 6 coaches what is the
maximum seating capacity of the train?

Answer:

Q14. Mrs. Shweta has asked the class to multiply the following and tick the correct
option.
Q-1755x 5=
a. 8752
b. 8774
c. 8775

Raj has not learnt the table of 5. But still he knows that the correct answer is 8775.
How?

Answer:

Q15. Mr. Joe sold each item in his toy shop for ¥20. Swati went and bought the
following:

y

How much money will Swati pay to buy all the toys?

Answer: %
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10.
11.
12.
13.
14.

ANSWERS

24+24+2+4+2+2+2+2 7 X2
7+7 2xX7
6+6+6+6 4x6
4+4+4+4+4+4 6 x4

a. 2000
b. 10

c. 1000
d. 2000

(c)
a. True
b. True

c. False
d. False

Number of bags Number of books in the bags Total number of books
1 15 1 x15=15
2 15+ 15 2 x 15 =30
3 15+ 15+ 15 3x15=45
4 15+ 15+ 15+ 15 4 x 15 =060

a. 5286
b. 98464

984672

327600

Match 23 x 6 with 138; 39 x 2 with 78; 62 x 4 with 248.
208 sweets

(a)

90 stairs

768 seats

Any number multiplied by 5, ends with the digit 5 or 0. The other 2 options don’t
end in 0 or 5.

3120
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